ﬁ’ 5 p ﬁ (@ YMHOKEHHUE JIpooOeii (mpaBuiibHAs TPOOb)
(HempaBUIIbHAS IPOOD )

Nms: Jara: Ounenka:
1 2
— X — =
7 6
2 5
— X — =
8 3
1 5
— X - =
4 6
3 2
— X — =
4 7
2 7
— X — =
3 9
7 6
— X = =
8 9
7 5
— X — =
2 8
4 7
— X — =
9 6
1 4
— X — =
2 8
2 6
— X — =
7 5
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\“ﬂ 5 p ﬁ (@ YMHOKEHHUE JIpooOeii (mpaBuiibHas TpoOb)
(HenpaBUIIbHAS APOOB)

Nwms: Jlara: Ouenka: ___
I 2 1

- X — = —

7 6 21

2 5 5

— X - = —

8 3 12

I 5 5

— X - = —
476 24

3 2 3

- X — = —
477 14

2 7 14

— X — = —

3 9 27

7 6 7

- X — = —

8 9 12

7 5 35 3
_x_:_:2_
2 8 16 16
4 7 14

- X — = —

9 6 27

1 4 1

— X — = —

2 8 4

2 6 12

- X - = —

7 5 35

www.snowmath.com


https://www.snowmath.com

